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Cos[ArcTan[n]]

inf- 7= FUllSimplify -
Cos[ArcTan[n]]+n Cos[? - ArcTan[n]]
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1+n?
In[+ J:=
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eHA =] 0 ns?2 0 |;
® 0 np?
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0 i - :
T= sqrt2]  Sqrt2] |3
1 1

Sqrt[2] Sqrtf2]

e = {Ex, Ey, 0};
T.eHA.Inverse[T]
np? ns? np? ns } { np? ns?2 np? ns
b o’

out+ J= {{nsz, 0, 0}; {O, — t———, -+t
2 2 2 2

n-j-d = T.eHA.Inverse[T].e
2 np? ns? np? ns?
ow[]:{Exns,Ey—+—,Ey - }
2 2

n-1- B={0, BO, 0};
Cross[{Ex ns?, @, 6}, B]

our- - {0, ©, BO Ex ns?}

= B={-BO, 0, 0};

np? ns? np? ns?
CI"OSS[{l, Ey T +T , Ey —T +T }, B]
1

1 , 1 » 1 2 2
outf ]:{O, — BOEynp®-— BOEyns®, — BOEynp*+— BOEyns}
2 2 2 2
1 2 1 2 1 2 1 2
Inf ]::{0, — BOEynp“-— BOEyns®, — BOEynp“+— BGEyns}l.
2 2 2 2

{np » 1.486, ns » 1.658, BO - 1, Ey » 1}
ouf- - {0, -0.270384, 2.47858)

in- = VectorAngle[{0, -0.27038399999999974", 2.47858"}, {0, 0, 1}]
ouf-]- ©.108659

n- - 0.1086586060897641" %180 /P1i
ouf-]- 6.22568
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